RI SOS Filing Number: 201921821510 Date: 11/14/2019 4:04:00 PM

### **UCC-1 Form**

### FILER INFORMATION

Full name: GERMAINE CURTIN, LLC

Email Contact at Filer: CURTIN@GCURTINLAW.COM

### SEND ACKNOWLEDGEMENT TO

Contact name: GERMAINE CURTIN, LLC

Mailing Address: PO Box 45

City, State Zip Country: GALWAY, NY 12074 USA

### **DEBTOR INFORMATION**

Org. Name: TASTEX CORPORATION

Mailing Address: 467-469 ROOSEVELT AVENUE
City, State Zip Country: Central Falls, RI 02863 USA

### **SECURED PARTY INFORMATION**

Org. Name: LUFTEX PERFORMANCE YARNS, INC.,

Mailing Address: 322 Collier Rd.

City, State Zip Country: Toccoa,, GA 30577 USA

TRANSACTION TYPE: STANDARD

**ALTERNATIVE DESIGNATION: BAILEE-BAILOR** 

### **COLLATERAL**

ALL PAPER SUPPLIES, EQUIPMENT AND OTHER ASSETS OWNED BY SECURED PARTY AND STORED AT DEBTOR'S FACILITY AT 467-469 ROOSEVELT AVE., CENTRAL FALLS, RI 02863, INCLUDING BUT NOT LIMITED TO THOSE ASSETS OF THE ATTACHED SCHEDULE. SUCH ASSETS ARE BEING HELD BY DEBTOR AS BAILEE, UNDER A MUTUAL BAILMENT.

## PRODUCTION EQUIPMENT

creel/position and Barco Electronic Monitoring post heater, sound box with wetting device, cold 100% roll with cold stabilizing roll, (6) end Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (24) position, each position is equipped with (2) heated godets rolls (core/effect), (2) hot pins, (2) draw rolls, 3.0 meter

Note: Older Barco Monitior

**Electronic Monitoring** Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (8) position, each with wetting device, cold 100% roll with heated stabilizing roll, (6) end creel/position and Barco position is equipped with (5) heated godets rolls (core/effect/post), 3.0 meter post heater, sound box

Note: Barco Monitor Not Working

- with wetting device, cold 100% roll with heated stabilizing roll, (6) end creel/position Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (4) position, each Note: No Barco Monitor position is equipped with (5) heated godets rolls (core/effect/post), 3.0 meter post heater, sound box
- creel/position and Barco Electronic Monitoring post heater, sound box with wetting device, cold 100% roll with cold stabilizing roll, (6) end position is equipped with (2) heated godets rolls (core/effect), (2) hot pins, (2) draw rolls, 3.0 meter Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (24) position, each Note: Older Barco Monition
- Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (24) position, each Note: Newer Barco Monitor rubber stabilizing roll, (6) end creel/position and Barco Electronic Monitoring position is equipped with (2) rubber godets rolls (core/effect), sound box with wetting device, cold

ING PORT

## PRODUCTION EQUIPMENT

post heater, sound box with wetting device, cold rubber roll with cold rubber stabilizing roll, (6) end position is equipped with (2) heated godets rolls (core/effect), (2) hot pins, (2) draw rolls, 3.0 meter Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 1999, (4) position, each creel/position

Note: No Barco Monitor

position is equipped with (2) rubber godets rolls (core/effect), (2) hot pins, (2) draw rolls, 3.0 meter post heater, sound box with wetting device, cold rubber stabilizing roll, (6) end creel/position and Stahle Air Jet Texturizing Machines, Model RMD-2, Serial Number N/A, Year 2001, (24) position, each **Barco Electronic Monitoring** 

Note: Newer Barco Monitor

Note: (8) Positions Only have post heater tubes

Note: (4) Position do not have drawing but can be installed with parts on hand

- position, each position is equipped with (2) rubber godets rolls (core/effect), (2) hot pins, (2) draw Stahle Air Jet Texturizing Machines, Model Original Design, Serial Number N/A, Year 1988, (24) **Barco Electronic Monitoring** rolls, sound box with wetting device, cold 100% roll with cold stabilizing roll, (6) end creel/position and
- Note: BTSR Electronic Monitoring not working with rubber cold stabilizing roll, (6) end creel/position and BTSR Electronic Monitoring is equipped with (2) heated godets rolls (core/effect), sound box with wetting device, Quaker Air Jet Texturizing Machines, Model N/A, Serial Number N/A, N/A, (20) position, each position Note: Take-up head has a metal groved drum

with cold rubber stabilizing roll, (6) end creel/position Enterprise Air Jet Texturizing Machines, Model N/A, Serial Number N/A, Year N/A, (4) position, each position is equipped with (2) cold rubber godets rolls (core/effect), sound box with wetting device,

Note: No BTSR Electronic Monitoring

Note: (1) Position has Slub Yarn Attachment

Note: Take-up head has a metal groved drum

26 Enterprise Air Jet Texturizing Machines, Model N/A, Serial Number N/A, Year N/A, (4) position, each position is equipped with (2) cold rubber godets rolls (core/effect), sound box with wetting device,

Note: No BTSR Electronic Monitoring

with cold rubber stabilizing roll, (6) end creel/position [NOT INSTALLED]

Note: Metal Groved Drum Take-ups

Note: Good for Hair Yarn

Eltex Taslan Yarn Air Texturizing Machine, Model AT, Serial Number N/A, Year N/A, (20) position, each position is equipped with (2) rubber godets rolls (core/effect), (2) hot pins,

(2) draw rolls, with cold rubber stabilizing roll, (6) end creel/position

Note: No BTSR Electronic Monitoring

Note: No ਬਾਤਨ ਵਾਵਧਾਰਸ਼ਨ ਅਰਸ਼ਨਸ਼ਸ਼ਮੁ Note: Heat Rolls Installed on (12) positions only and Hot Pins on all (20) positions

Note: Dog & Eye Eltex Take-up

post heater, cold rubber stabilizing roll, (6) end creel/position and BTSR Electronic Monitoring position is equipped with (2) rubber godets rolls (core/effect), (2) hot pins, (2) draw rolls, 3.0 meter Eltex Taslan Yarn Air Texturizing Machine, Model AT, Serial Number N/A, Year N/A, (4) position, each

Note: BTSR Electronic Monitoring not working

Note: Dog & Eye Eltex Take-up

ب

roll, (6) end creel/position and BTSR Electronic Monitoring position is equipped with (2) rubber godets rolls (core/effect), with cold rubber stabilizing Eltex Taslan Yarn Air Texturizing Machine, Model AT, Serial Number N/A, Year N/A, (20) position, each

Note: BTSR Electronic Monitoring not working

Note: Dog & Eye Eltex Take-up

1 Lessona Ring Twisters, Model 514, Serial Number N/A, Year N/A, (86) spindles, 7" ring x 14" traverse, 10 HP motors complete with overhead creels

1 Leesona Model 50 Winders, (84) spindle set up for precise wind finger tubes, all have yardage clocks

Chavis Cone Winder, Model 1610, Serial Number 918, Year 1977, (24) spindles, with cams, and arbors tension guides and micro switches to maintain uniform package size, conveyor for finished package to to wind 9 deg. 36' cones, 6" traverse, also 3 deg. 51' cones 10" traverse, automatic stop motion,

1 Lot of (2500) Twister Bobbins, Solid Phenolic

DUG PA

## Lot of Laboratory Equipment, consisting of:

- (1) Dye Heating Oven
- (1) McBeth "Spectralite" Color Light Booth
- (1) Enka Tenacity and Elongation Tester
- (1) Scott Tester
- (1) Moisture Tester
- Suter Fine Denier Tenacity & Elongation Tester
- (2) Skein Reelers
- Edwin Benz Computer Material Testing Unit
- (1) Soabar Label Printing Machine
- (2) FAK Yarn Sample Knitter (fine and course gauge)
- (1) Dell Computer System for labels with OKI Data Dot Matrix Printer with software

Year N/A, electric, complete with steam & dry heat controllen and recorder Industrial Dryer Co. Yarn Conditioning Box, Model ST-2, Serial Number N/A,

Lewis Ultrasonic Jet and Jet Core Cleaning Unit

Armstrong Cot Buffing Machine, with progressive traversing attachment

### **NIATERIAL HANDLING**

-	,	
Electric Pallet Jack, Model ELE 45, Serial Number 204, Year N/A, 2500 lb. capacity		3000 lb. capacity, with fork attachments

2	
Hydraulic Pallet Jacks, 2500 lb. capacity	

1 Lot of (50) Stainless Steel Wire Baskets for steaming twister bobbins of yarn	
 eaming twister bobbins of yarn	

Lot of (35) Collapsible Steel Mesh Containers, 2000 lb. capacity
- 1

<del> </del>	
Coretect	
ו Paper (	
iper Core Cutter	
dn '	
to 60" ca	
зрасіту	

Piqua 60" Waste Baler, Model HD2200, Serial Number N/A

the gal

- Lot of Tool Room (Machine Shop) Equipment, consisting of:
- (1) Floor Model Drill

(1) Lathe complete with attachments

- (1) Bench Drill
- (1) Lot of tools, cutter, reamers, drills, etc.
- (1) Lot of Electric room-cable, wire, electric switches, etc.
- (1) Steam Jenny
- Rolling Ladder, 9 step Aluminum Dock Plate, floor to street, 2 pieces
- (1) Hand Strapping Unit
- (1) Floor Fan (4 foot)
- (1) Rolling Ladder, 5 step
- (1) Bridgeport Milling Machine, Serial Number 548287 (with all tooling)
- (1) Kalamazoo Metal Band Saw, Serial Number 126-391
- (1) Elox Hydraulic Press, Serial Number 289 (1) Rockwell Wood Band Saw, Serial Number DN/7660
- (1) DeWalt Magnetic Drill Press

# AIR COMPRESSORS - PLANT PROCESS AIR

1 Sullair 200 HP Rotary Screw Air Comp Serial Number 003-133428, Year N/A	1 Sullair 100 HP Rotary Sci Serial Number 003-7413		1 Sullair 75 HP Rotary Scro		
Sullair 200 HP Rotary Screw Air Compressor, Model TS-20, Type S20-200HH, Serial Number 003-133428, Year N/A	Sullair 100 HP Rotary Screw Air Compressor, Model 16B-75L-A&AC, Serial Number 003-74134, Year N/A, maximum pressure 150 lbs., Integral Oil Cooler	Sullair 75 HP Rotary Screw Air Compress, Model Number 16-60, Serial Number 003-77535, maximum pressure 150 lbs., Integral Oil Cooler		Sullair 30 HP Air Compressor, Model SU8E-30XH, Serial Number 003-88858	Sullair 30 HP Air Compressor, Model SU8E-30XH, Serial Number 003-88858 Sturtevent Exhaust Blowers with 5 HP motor drives
		ooler	ooler	ooler	ooler

- Lot of Air and Water Lines with Filter System, consisting of:
- (2) Hot Water Standby Systems
- Approx. 250' 1'' water line with shut-off spindle
- Approx. 400' 2'' copper tubing air line with shut-off valves and oil separators
- Approx. 80' 4'' schedule 40PVC line to serve as exhaust pipe for machines air vortex with 2'' flexible hose connected to machine
- Approx. 150'-6'' schedule 40PVC line to serve as exhaust pipe for machines air vortex with 2" flexible hose connected to machine
- DYNA-TECH Membrane Wastewater Treatment System, Model VF-28-12-1H, Serial Number 840129, System up grade Expansion Module, Model UFZ8-12-6H

DUG BY

### **Paper Supplies**

ltem	Price	Inventory	Total
Corrogated Sleeves	3.00	1,109	3,327.00
Tops + Bottoms (2 per Gaylord)	1.500	1,944	2,916.00
Yarn Separators (2 per Gaylord)	0.80	1,560	1,248.00
Wood Pallets (42" x 42")	5.00	115	575.00
Cardboard Pallets (For Export)	8.00	231	1,848.00
4600 Black Tubes	0.13	756	98.28
Caraustar Tubes (71 Boxes)	0.10	42,209	4,220.90
Recycled Roll Nosed Tubes	0.05	13,812	690.60
Plastic Dye Tubes	0.26	1,887	490.62
Total Amount			15,414.40

-2 trucks 3000

Net Amount 12,414.40

DV6 RX